T & X

$=1:1000

‘ RoMET XA L=465.00m (& F#) GERHER <)

BREYIAI (1) A=2,076.9m2 RME (1) A=2,076.9m2 HFE A=2,076.9m2 L[EER# A=2,076.9m2 TIEFEA A=2, 076.9m2 TREZEF A=2, 076.9m2

i
B
E|
B
}
e

Y o
ﬁwlllll:'gnm"'"
S ——

BRELIA] (2) A=1,438.6m2 FRE (2)

A=1,438. 6m2

AR 2 1 b E X

AR ZE 1 b T ()

s =
%= M
$=1:50 $=1:20 5=1:50 §=1:20
No. 0~No. 7+36.5 No. 8+26.5~No. 12+15.0
6700 10250
500 _ 2850 2850 500 500 4625 4625 500
2.00% 2.00% 2.00% 2.00%
AS
E e
6 G 6
£ (1) . BEBHETA(13) 2, 350ke/nd t=5om 2BQ)  BERMETY(9) 2 B0ke/nd tEon
(ASTLE] - PK-4) .
=B ) BEFHNETAIY(13)  t=5cm HIE - BAMEETAI (20) 2,350ke/m3 t=5cm =B (2)  BEFTHETAIY(3) 2, 350kg/m3 t=5cm
(sFLA - PK-4)
£E BEMMETAY(20) t=Scm LREE - BEEHRELE (40) 2, 350ke/n3 t=10cm
- £ (AsELHI : PK-3)
BB BABEREME0)  t=10cn o= _ .
B TERXS N5 (250=<T=1000) TERE:  BEYV 5y v—7 2 (RC-40) t=12cm TER S N5 (250=<T=1000)
5994=3Y (RC— - HE : % ETCBR 16
TREBE : BEHIrve-5y RC-40) t=12em % EHCBR 6 FEEE () B L ®Et
FEEE () : #EHEL Etitd
T 5 & SN FEMEHHFE 1S
ERMRRERHKR (H) IF
oA NO.O NO. 1 NO. 2 NO.3 NO.4 NO.5 NO.6 | NO.6+8.7 | NO.6+30.0| NO.6+34.5| NO.7 | NO.7+36.5 B & |NO.8+26.5|N0.8+29.0| NO.9 | NO.9+1.5 | NO.10 [NO.10+34.5| NO.11 |NO.11+23.0|NO.11+36.0| NO.12 | NO.12+7.0 |NO.12+15.0 &I & & W MERET R
& B m 6.4 6.1 5.8 6.0 6.2 6.0 7.0 |7.0~10.000 9.5 |9.50~6.8| 7.0 1.0 & (m | 65 [65~10.00 10.0 7.0 9.0 |9.0~10.00] 10.0 10.0 12.0 1.5 12.5 18.0 BEOESE TEE - BEHEE S
#a R =] = HEES 1/ 3
%No. 8+26. 5~No. 12+15. 0O XRHICDVWTIFBRBOREN LI TV 0. REOAHBIZT5.
B X B A RTEREMEMIEEHM




X E % F @ X

©

$=1:1000
‘ RSHET BRI L=465.00m (T4 GEREE O ‘
BT R B4R (1) LR AMBI4R (B9 8 SE4RW150m) L=142. 9m BRARES () EENEIE FRARES (1) EENE BRRRER (1) BRI BB R ER (1) ERA IR (56 FHNI5n) L=141.9n
(B E4§W15cm) L=48.2m | (B& E&HWI5cm) L=41.0m (B & =&W5cm) L=46.2m ‘
BHRAME 5K
B E R Q) TSR BRARER (6) BB EH (B8 FEN5onik )
(B B&W15em) L=10.0m =6.7m N=2{&
BRARER 6) BSAY (B8 ERI5nit %)
=6.7m N=2f&P
Y w N FEEIEE ) ERERR v
&<> O S 8o xrsoscrs | ARARES L TS BT 5 N=450m) N\ i v et
@ 2 ( BW15cnBE) L=36.5n =444 N ‘ N BREKBH (1) 54 R
@ N oo AN (B R0 5 (=25,
-
% Q BN ER ) HES L BRAERER (6) EESET S (HE ERI5nE) BRI RER (4) it £ A4 [=2.8m r BRREES (D) €T 5 BB 5T W45 Rl B (6 Y TIWsem, Db
(= (EE: W45cm) L= \Qm N=5F L=16.5m 2&Fr P L=56. 9m B
N
Y - - Q \
L $(2) BB R4 (4 EEN5cn) L=361. 0n - B 5 43R - EBN150m) (2139, 0n ©
N STx_< 1 5 ) g
NS / N Q N
r I ~ N o °
o S Q
B =
: 2 N\ . 2
™ - N N o8
A o o~ Lo
N =] I~ T O o — N
2 N S/ | g =
/ N =
(>} il =
g VIRCET AV HH =
Q r o " - N
\\
N
- N S N
r ] °
N N
N N ) - .
N . o <> ! <
N
o N o BRRREH0) A AR X ks (6 5 45 8 T 2 S : BEAEES 1) s
N 5 (A& T 7 mr<3d, EEMboft ) T=16, 5m (& 15¢m 1878 (B H 7 W5em L34
N O I
r r . et
N r r st i (4) BB EE o : FELEE g M
(B8 €7 5W5m L=4.0n TA (A&t J5W5em L=2. 8m (B8 ERN15nE) L=36.5n
‘ AR R B (1) RS A ‘ ‘
BB R B (1) - 548 41 (3 42W15cm) L=184. On (B & RN15cm) L=49.4n BEREER (1) BRI AR R R EAR (1) BRI (B T MN15em) L=137. 6n
BRAME A ERAME 1K (B2 ®=@W5em) L=75.2m

\

BEted b
T 5 % M FEMEHHAE 15
ERMRFERYR (FK) IF
I @M% M OWRET A
HEoiEf X B # ¥ &
& R | HEES 2/ 3
® X o4 BRNERBEMIEEHR




R 3% X E #& F @ X

$=1:1000

RoME TR L=465.00m (ETF#) BRHEKR L)

° \\
\
P SRR (JE £ N Som) L=361.0n

8|
!‘_ Y RRER )
]
l'l 7
4
“"'-....--‘i'l'-"
Ji Y

g R

NS

e

gRW15cm) L=60. 3m

Ry bRRER Q) RS EH (A E: FLHW5cm)
=6.7m N=2f57

AU bRRERQ) BEEH (AR FEW 5cm)
=6.Tm N=2{&F

®O) ERERK %

~q y’li@fﬁ B

(Be: '5&: £25. 8

R (R R

AR R E LA

BEted b

NS FEMERME 1S

ToF & EHMREERKR (HK) IF
I @M% EW o OWIRET A
HEoiEf &% XK B & £ &
& R $=1:1000 | REES 3/3
® X o4 EMERBERIEEHR




